0 Adding Hundreds to a 3-Digit Number 0

LO: to add hundreds to a 3-digit number

Calculate the answer to the following: | Calculate the answer to the following:

1) 163 + 500 = 9) 372 + 800 =
2) 345+ 600 = 10) 460 + 700 =
3) 582 + 400 = 11) 508 + 900 =
4) 273 + 300 = 12) 721 + 500 =
5) 561 + 200 = 13) 549 + 800 =
6) 170 + 700 = 14) 672 + 700 =
7) 207 + 500 = 15) 701 + 900 =
8) 719 + 100 = 16) 927 + 600 =

Calculate the answer to the following: Challenge

17) 116 + 700 =
) Explain how you would use

18) 352 + ___ = 1252 9 + 4 =13 to calculate 931 + 400.

19) 824 + 300 =
20) ___ + 400 = 859
21) 562 + 900 =
22) ___ +300 = 916

23) 752 + ___ = 1552

24) 911 + 700 =
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Adding Hundreds to a 3-Digit Number 0

LO: to add hundreds to a 3-digit number

Calculate the answer to the following:

1) 163 + 500 = 663
2) 345 + 600 = 945
3) 582 + 400 = 982
4) 273 + 300 = 573
5) 561 + 200 = 761

6) 170 + 700 = 870
7) 207 + 500 = 707

8) 719 + 100 = 819

Calculate the answer to the following:

9) 372 + 800 = 1172
10) 460 + 700 = 1160
11) 508 + 900 = 1408
12) 721 + 500 = 1221
13) 549 + 800 = 1349
14) 672 + 700 = 1372
15) 701 + 900 = 1601

16) 927 + 600 = 1527

Calculate the answer to the following:

17) 116 + 700 = 816

18) 352 + 900 = 1252
19) 824 + 300 = 1124
20) 459 + 400 = 859
21) 562 + 900 = 1462
22) 616 + 300 = 916

23) 752 + 800 = 1552

24) 911 + 700 = 1611

Challenge

Explain how you would use

9 + 4 = 13 to calculate 931 + 400.

900 + 400 = 1300
SO

931 + 400 = 1331
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